[image: image1.png]4 Clover is a type of plant commonly found in
lawns. The clover exists in two varieties:
A normal clover that is a conunon food of slugs
B a slow growing variety that is poisonous to

slugs.

The table shows the eftect that increasing slug
numbers has on the percentage of the two
varieties over a period of years.

Year % Clover in lawn | Number
A ; B of slugs
2000 80 20 44
200075 25 60
o0 e m e
2003 50 50 100
2004 42 ‘ 58 120

EXAM QUESTIONS 0_0_07

a) Name the type of selection shown. (1 mark)

b) Explain the change in the types of clover over
the period shown. (3 marks)

c) State what is meant by the term ‘evolution’.

(1 mark)
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P Exam questions
1 a) Copy and complete the table.

Human Cause of

! Type of 1
‘ variation | characteristic variation
t Continuous Environment
Tongue rolling (3 marks)

b) Explain what is meant by continuous
(1 mark)

The diagram shows graphs drawn from data

variation.

collected during biology experiments.

A B

a) What would happen to the black moths in a
woodland with light-coloured tree trunks?
(1 mark)
b) A wood had the following proportion of the
two torms of moth.

Percentage
Pale | Black
| LR 2

Lo

The tree trunks became blackened with soot

trom a nearby tactory.

What would happen to the percentage of each

type of moth in the wood? (2 niarks)

3 The following table shows the number of pupils
in Year 11 in a school in Northern Ireland who
can, and cannot, roll their tongues.

rAbiiliﬂt'y to roll tdnéue ‘ Number of pupils

il

c) Which 1s the graph for
i) height

(1 mark)
ii) tongue rolling? (1 mark)
2 The illustration shows two torms of the peppered

moth, a pale form and a black form. Birds feed on

both forms of moth.

Can 50
Cannot ‘ I5

a) i) Draw a bar chart using the data in the
table. Label each axis. (3 marks)
ii) Explain why tongue rolling shows a

(1 mark)

b) The process of evolution 1s brought about

discontinuous variation.

by natural selection favouring particular
individuals in a population.

An example can be seen in the resistance of
some bacteria to antibiotics.

Antibiotic resistance is brought about by a
mutation that enables resistant bacteria to
survive in the presence of antibiotics.
However, antibiotic-resistant bacteria do not
reproduce as well as normal bacteria in an
antibiotic-free environment.

The following table shows the relative number-
of normal bacteria and antibiotic-resistant
bacteria in two ditterent environments.

| Environment Normal Antibiotic-resistant
; bacteria/% ~ bacteria/%
Antibioticfree % ! ]
Antibiotic present 0 100

Explain these results, in terms of natural
selection.

In this question, you will be assessed on
using your written communication skills
including the use of specialist science

terms. (6 tark:




